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12 General Term1 2021/2022 Teacher: Bayan Arabli
Review Unit 3

Choose the correct answer in the following questions:

1- Choose the correct answer in the following questions:

22/ 14
15
2V14 _ __ 15 _2V14 _ 13
a sme—?,csce—T os0 ,sec ,tanf = TR tt9—2\/ﬁ
15 13
b. sinf = cscH == cosf =—= ,sec =— 6—£ to = —
5 2V14 2V14
Vi _ 15 _ _ \/_ 13
c. sinf = T B—Nﬁ,cose— sec = no = ot6?—2\/ﬁ
2v/14 13
d. sinf Nev cscl Nev cosf = — ,sec ,tanf = —5 /€0 oto = ey
2- If sinf = -, 0 acute angel, find the remaining trigonometric functions values of 6 :
5 3 5 4 3
a cscl =- ,cosf =- ,sec =- ,tanf = - ,cotl = -
4 4 3 3 4
5 3 5 4 3
b cscl == ,cosf == ,sec == ,tanf =- ,cotl = -
4 5 3 5 4
5 3 5 3
c cscd =- ,cosf == ,sec =- ,tanf =-,cotl = -
3
d csc@z—,cos@zg,sec=—,tan9=—,cot9=—
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12 General Term1 2021/2022 Teacher: Bayan Arabli
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3-If secO = 8 , 6 acute angel, find the remaining trigonometric functions values of 6 :

ing = Y& _1 N _
a. smH—T,cose—S,csce \/_,tanH 63, cotf 75
ing = V& _1 _ 8 _ &3 ES
b sinf = S ,cos@-g,csc@-\/a,tane— 63 cote—@
ing = V& _1 _ 8 _ Y& _ L
c. sinf = 5 ,cos@-g,csc@-\/ﬁ,tane— 5 ,cot@-\/a
g — Y63 _1 8 — — 8
d. sinf = 5 ,cos@-s,csce—\/ﬁ,tane—\/63,cot9—\/a
4- Use the graph below to find x to the nearest tenth:
a. x=6.49 b. x=6.5
10 X
C.—~'x*= 19 d x=18.4

ST

5 - Ahmed built a snowboarding ramp with a height of 3.5 feet and an 18-degree incline.
Find the length of the ramp to the nearest tenth?

a. 10.8 feet b. 11.3 feet

c. 0.1feet d 3.7 fee

6- Use the graph below to find 0 to the nearest hundredth:

a. 41.871° b. 48.2°
c. 33.68° d. 48.19°
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PARASAILING Eiman decided to try parasailing. She was
strapped into a parachute towed by a boat. A 243 .8-meter
line connected her parachute to the boat, which was at a
32" angle of depression below her. How high above the

water was Eiman?

‘"&' ______________
32°
X T~ 2438 m
e
.‘ -
| = 2 e
a. 206.75m b. 152.34m
c. 129.19m d. 150.16m

8- If the point (5, -3) lies on the terminal side of an angle © in standard position.
find the value of the six trigonometric functions of ©?

) -3 -3 —\34 V34 -5
a. sm@-m ,cos0 —m,tane— - cscl = . ,secl = - ,cotl = .
. 3 5 -3 V34 V34 -5
b. sin@ =— ,cos0 =— ,tanf = — , c¢scl = — ,sec0 = — ,cotl = —
V34 V34 5 3 5 3
. 3 -5 -3 V34 —\34 -5
c. sin@ =— ,cos0 =— ,tanf = — , cscl = — ,sec0 = —— ,coth = —
V34 V34 5 3 5 3
. -3 -5 -3 —-\V34 -V 34 -5
d. sinf =— ,cos60 =— ,tanf = — , cscl = —— ,sec0 = —— ,cotf = —
V34 V34 5 3 5 3
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9- Find the exact value of the trigonometric function csc_—: :

a. 2 b. undefined
c. -2 d. 0

10- Find the reference angle of the angle 300° :
a. 60° b. 30°

c. —30° d. 45°

11 - Find the reference angle of the angle ? :

T T
a - b. -
4 6
— T
c. — d. -
3 3

. . . . 7
12- Find the exact value of the trigonometric function secT"

a. 2 b.%

-1
C. —\/E d. ﬁ

13- Find the exact value of the five remaining trigonometric functions of ©, If cos ©= _1—132

,weresin© <0

. 5 —-13 —-13 12
a. sin@ =— ,tanf =— , csc0 = — ,secd = — ,cotl = —
13 12 5 12 5

. 5 5 13 —-13 12
b. sinB =— ,tanf =—, cscl = — ,secfd = — ,cotl = —
13 12 5 12 5

. -5 -5 -13 —-13 —-12
c. sinf@ =— ,tanf =— , cscl =— ,secd = — ,cotf = —
13 12 5 12 5
. -5 5 -13 13 12
d. sinf =— ,tanf =— , cscf = — ,secO = — ,cotf = —
13 12 5 12 5
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14- CAROUSEL Yasmin is on a carousel at the carnival. The
diameter of the carousel is 24 .4 meters. Find the position of

her seat from the center of the carousel after a rotation
of 210".

Ay

Yasmin

Note that rotation is counterclockwise. And approximate to the nearest hundredth.

a. 6.1 meter left the center and then 10.57m down

b. 10.57 meter left the center and then 6.1 m up

c. 10.57 meter right the center and then 6.1 m down
d. 10.57 meter left the center and then 6.1 m down

15- If sin(-0) = % , find cos(—8) , O positive?
a. —= b- 4 c. = d. 3
5 3 5 4
16- Use the graph to find the coordinates of P o

Wi -32 L (32 7= A
(21 2) - (2'2) "'I//_ " i

‘«\o 3 x
2 vz 0 (2 37 >/
(2’2 ' (2’2)

P (x, y)
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17- State the amplitude, the period, frequency and midline for f(x) = 3 sin (3x — g) -2

a. Amplitiude:3 , period:2m , frequency: i , midline:y=2
b. Amplitiude:3 , period: ™ , frequency :% , midline:y=2
, frequency: % , midline:y=4

c. Amplitiude:3 , period .2z

d. Amplitiude:3 ,period:2—7r

50 frequency : pyl midline:y=2

18- Use the graph of sin x to graph g(x) = - sin(x) + 2:

T 0507740983: Jwal il
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19- Use the graph of sin x to graph g(x) = - sin (x - % ) + 2:

a. b.

20- Write a sine function that can be used to model the initial behavior of a sound

wave with frequency f = 440 and amplitude a = 0.3:

a. 0.3 sin(4407mx) b. 0.3 sin(880mx)
c. 0.3 sin(880x) d. 0.3 sin(440x)
- 0507740983: Jw= sill
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21Write an equation of a sinusoidal function that satisfies

the period = w,amplitude = 5 ,passes throught the point (

6’2
a. y = 5cos(2x) b. y=>5sin(2x)
c. y = 5sin(2x — g) d. aand c
22-
METEOROLOGY

The average monthly temperatures for
Boston, Massachusetts are shown.

Jan 29 Jul 74
Feb I 30 Aug ’ 72
Mar 39 Sept 65
Apr 48 Oct 5SS
May 58 | Nov 45
Jun 1l 68 Dec ' 34

Write an equation of a sinusoidal function that models the monthly temperatures:

a. 22.5cos( x——)+515 b. 22.5cos( x——)+515

C. 22.5cos(§x+ 7?”)+51.5 d. 22.5cos( x——)+515
0507740983:; Jual sill
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23-Write the equation that correspond to the graph:

a. sin(x+%)—2 b. sin(x+§)—2

c. sin(x+%)+2 d. sin(x+§)—2

24-Write an equation of a sinusoidal function that satisfies

the period = m,amplitude = 5 ,passes throught the point (% ,;)

a. y = 5co0s(2x) b. y=>5sin(2x)
c. y = 5sin(2x — g) d. aand c
= 0507740983: Jwal il
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25- Find the vertical asymptotes to y = —3 tan (g) in[—2m, 2] ?

-3 3 -3r 3
a X=— ,6 XxX=— b. x=—, x=—
4 4 2 2
-1 Vs —TT T
c X=— ,6,XxX== d X=— ,6,XxX==
2 2 3 3

a X==-,x=— b x=0,x=m
6 6
7t -1 7T
C. X=5,X=-— d. x=—,x=—
2 2 3 3

- 2
a x=—  x== b. x=0,x=m
3 3
-5 L3 n
o X==Z, X=— d x=—,6 x=—
3 3 3
R 3n
28- The vertical asymptotesto y = tan(2x — 7) are :
(3 y[4
a. {x= n(g):nez} b. {x= n(z):nEZ}
1T T
C. {xzn(g):nel} d. {xzn(g):nEZ}
0507740983: Jw= sill
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12 General Term1 2021/2022 Teacher: Bayan Arabli
Review Unit 3

29-  Use the graph of tan x to graph g(x) = tan (x - E )+1:

i

’A'rr —3TT S 2 — T —ar 2 TS 2 T FaT A 2

A

—
—a
a b.
7
z
1 2
1
-3f2 - | -yl 0 2 m iyl o
/ -
F3mi 2 m -mi2 0 mi2 Jmi2
-7
2
c d.

/w 12 | n 2 0 12 T |2 m
-1 2 -m
3
—4
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30- Identify the damping factor f(x) of y = 2x? sin2x :

a. 2x? b. x

c. 2x d. 4x

31- Identify the damping factor f(x) of y = 2* sin2x and describe the behavior
Of the graph?
a. 2%, deacresing the amplitude as x approch oo
b- 2*, deacresing the amplitude as x approch — «
c- 2%, deacresing the amplitude as x approch 0
d- -«

, deacresing the amplitude as x approch — «

32- For a function vy, if the period is 37T and vertical shift 2 up, then the function y is:

a. sin(%x+1t)+2 b. cos(ZS—x+1t)+2

c. tan (g + n) + 2 d. All answers

33- The exact value of sin™1 (?) =

a. ™ E b. E
3 3 6
C ? d E
0507740983: Jwal sill
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34- The exact value of cos~1 (\/Z—E) =

a. E , 3_11: b E
4 4 4
c = d. id
6 3
35- The exactvalue of tan~!(-1) =
3 —_
a. " b. z
4 4 4
c z d =
6 4
36- The exactvalue of arcsin (2) =
3n .
a. T b. Not exist
c z d z
6 3
37-The graphof sin~1(2x)) is:
a. b.
ar-d-2
0.5 —0.25 0.25 0.5
—0.5 —0.25 o 0.25 05
h -T2
— 0507740983: Jwal 5ill
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C. d-
12
T2
I M i 0.5 —0.25 0.25 0.5 0.7H
H —TTa2
38- Thegraphof cos1(x—1))is:
a. b.
n m
\h \h
mi2 ri
2 -1.75 -1.3 -1.25 =075 =05 =025 0 0 0.25 0.5 0.75 1.25 15 1.75 2
C. d-
<2
-0.5 -0.25 0.25 0.5 0.75)
- 0507740983: Jal sill
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39- Thegraphof tan 1(2x))is:

a. b.

w2

T

25

075 05 025 of 4 e b5 g5 b5 o 025 05 075

-mi2
-2
c d-
2

m

\h
2

05 -0.25
-2 -1.76 -15 -1.25 -1 =075 05 025 0
-2
- . . _1 (3
40-  The exact value of sin(sin! (Z)) =
3 .
a. " b. Not exist

1 -3

c = d —

2 4

- 0507740983: Jw= sill
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.1 . 5w
41-The exact value of sin™" (sin (T)) =
n -
a. ) b. Notexist
¢« = d.
4 4

42- The exact value of cos(cos™1(2)) =

a. g b. Not exist
¢ — d =
4 4

43-The exact value of sin(2cos™! (g)) =

a. -1 b. Not exist

c. 1 d. 0

44- The exact value of sin(tan™1(1) —sin™1(1)) =

a. \/Z—E b. Not exist
c. 2 d. V2
2 2

45-  The exact value of tan(cos™! (g)) =

5 :
a. 3 b. Not exist
4 4
0507740983: Jal sill
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46- The exact value of sec(sin 1x) =

a. — b. Not exist
—X
L d 1— A2

C. Newee . X

47- Write the expression as a trigonometric function of the

1—x2
Inverse trigonometric function of x.
a. cos(sin™1lx) b. tan(cos 1x)

c. tan(sin lx) d. sin(cos™1x)

-1 , . . .
48-If cos 0 = 3 ,0 in the third quarter find sin@ ?

-2 -22
—= b, —=
3 3
__2\5 d ﬂ
1 ’ 3
49-1f secO =2 ,tan @ = —/3 find sin0 ?
—/3 —
a. B b, -3
2 1
V3 -2
C. 7 d. ﬁ
0507740983: Jw= sill
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50-If c¢scO =-1.24 find sec(0 — g) ?

-1

a. —-1.24 b. —
1.24
-1
c. 1.24 d —
1.24
51- cscxsecx —tanx =
a : 1 b. sinx
SInx cos x COoS X
c. secx d. cotx
1-cos x sinx
52- — =
tanx 1+cos x
sinx
a. b. cosx
1+cos x
c. sinx d. sin’x
= 0507740983: Jwal sill
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53-sinx — sin x COs2x =
3 -3
a. COoSs™ x b. —sin" x
c. —cos3x d. sin3x
54- cscx —cosxcotx =
a. COS X b. sinx
c. —Ssinx d —cosx
sinx 1-cos x
55- + - =
1—cosx sinx
a. 2cscx b. secx
c. —-2cscx d —cscx
= 0507740983: Jal sill
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